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4- Well 1 (Fig.1) is pumping at rate Q=1.25 m3/min (1800 m3/day) from
unconfined aquifer in which the height above the lower impervious boundary of
the initial water table is h0=30 m. the flow reaches steady state when the the
drawdown, Sd, in the well is recorded as 3.542 m. if rw=0.25 m and T value from
a previous pumping test is 0.41 m2/min. determine a) the radius of influence b)
the drawdowns at vertical sections through a, b and c at distances 25, 75, and 125
m respectively from the center line of the well.
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